The Argumentative Indian

Textual Questions

Question 1. How many times is the ‘Mahabharata’ longer than the ‘lliad’ and
‘Odyssey’ put together?

(@5
(b) 9
(@7
(d) 2

Answer: (¢) 7

Question 2. Who translated the ‘Gita’ into English?

a) Max Muller

b) Amartya Sen

c) T.S. Eliot

d) Christopher Isherwood

—_~ o~ A~ o~

Answer: (d) Christopher Isherwood
Answer the following questions in 15-20 words each :

Y UQA® U BT IR 15-20 Yec] A ST -

Question 1. Who was Krishna Menon and how long did he deliver his speech at the
UN?

FHM T B A T 3814 UN H fhd THT T 39T 1o & 2

Answer: Krishna Menon was the leader of the Indian delegation to the UN and his
speech lasted nine hours uninterrupted.

HM T UN Y FRIP-HEd BT g B g A TUT ST HINUT SHfaRd Y gel d =

Question 2. Name the foreign commentators who endorsed Krishna’s moral
position.



3 fac=h fRwyufieRl & A daTt forgin W1 &t i safeufa &1 gad= fasar ?

Answer: The foreign commentators who endorsed Krishna's moral position were C.
Isherwood, T.S. Eliot and Wilhelm von Humboldt.

o fac=h fewyofieRi 7 Fwr &t Afaes srafRufa &1 Hd= forar o1 39 A C. Isherwood,
T.S. Eliot Td Wilhelm von Humboldt |

Question 3. Can we achieve immortality through wealth, according to Yajnavalkya?

qRaedd & IR &1 81 8 GRT 3R U 6 hd & ?

Answer: No, according to Yajnavalkya one cannot achieve immortality through wealth.
Te!, Iidead & SIUR Plg U GRT 3R U gl L Il g

Answer the following questions in 50 words each :
15 U U9 BT IR 50 Wsal H T ;

Question 1. Discuss the topic of debate between Arjuna and Krishna in the
Bhagwad Gita.

YITad T & 3191 Ud $WI & Te dla-1ad1g & NS B [dae1 DI |

Answer: Krishna and Arjuna take two contrary position in their debate in the Gita.
Krishna emphase sizes doing one’s duty and urges Arjuna to fight the battle, irrespective
of consequences. While Arjuna focuses on avoiding bad consequences, even if these
happen while doing one’s duty to promote adjust cause which was fighting the battle.

T & $W1 Td 3o 31U aTe-faare # &l faRid a1d wgd § | $91 S Uia IR §d od &
d 39 B! g5 og URA B & T18 39 o2 H uRumH 8| Siafes Srof X uRomet § s
IR M ¢d g, I8 d Th SFId HRUN () 5] fhU U= SHaoqurer 9 & i 7 81-981 I8
Tt TSI 1|

Question 2. In which poem does T.S. Eliot summarize Krishna's views and how ?
g wfaar A T.5. Eliot FO1 & faaR} &1 WRiHRor a3d § iR &9 2

Answer: T.S. Eliot summaries Krishna's views in his poem ‘Four Quartets’ in form of an
admonishment : "And do not think of the fruit of action! Fare forward". He explains: ‘Not



fare well/But fare forward, voyagers'. The emphasis here is on performing our duty, even
if its results are bad.

T.S. Eliot 1 & ARl P (U HIAT ‘Four Quartets’ ¥ Tdh Sle-HR TRTHRT §RT RN
B & 3R HH & B R [GIR T B | A 91 ' I GHATA § : 3BT Hd BRI, HH B
3T §¢1 ' T8I W SR HaoauTe IR g, T8 39! UNRUIH §_1 &1 31 7 8l

Question 3. Discuss the role of women in political leadership and intellectual
pursuits in India.

YRd T IeTae A9 Ud difgd ars o &l ot yftyes o1 =i s

Answer: The participation of women in political leadership and intellectual pursuits has
been considerable in India. Many dominant political parties, both national and regional,
are currently led by women -as has been in the past. Some of the most celebrated
dialogues have involved women.

oA g J dlifge ars # HRd | Radl &1 HifiaR) auiHia 81 81 sMe Aewayul
TSI geft, G EY ST T Uil TR W, B aod § Ao Rt § S i srca o of|
TS aie URis Haral | Rl i &1 5|

Answer the following questions in about 100 words each :

Y U Uy &1 IR 100 Vsl H IfSTT -

Question 1. Do you agree that ‘fare forward’ is better than ‘fare well’? Give your
views.

W&Wsﬂaﬁﬁ%ﬂﬁ%ﬁ? ‘fare well’ ﬁ&lﬁ&ﬂ ‘fare forward’ WW%I 30 AR
fafaul

Answer: In the timeless epic, the Mahabharata, while Krishna exalts performance of
one’s duties, irrespective of its consequences, Arjuna is more concerned about the
consequences. To my mind ‘fare well should be of more substance than ‘fare forward'.
The concept of duty for a just cause is quite ambiguous.

What is just for one, could well be unjust for another! If a just cause entails terrible
consequences, the very cause should be questioned. On the other hand, if an action
foresees benevolent results, its cause must certainly be good and just. So farewell’
should be better than ‘fare forward’ particularly in present day context.



HIASTd HeldhIed ‘HETHRA H, S8l $WI URUIHT &1 URdTe 1 &R, U1 Haod Ul B Pt
HigH §d1d 8, 981 3ol Rt & s & 3ifdres fRifed 81 W faR ¥, 31 A & om
eI, ‘Hacd UIaH B 3H dgI § S Agw@yui ¢ | Wrifod RO §g HTUTa B B
T BT ST g1 Sl U o forg IRId §, 98 o & e ergfad 8 Isar g |

g foreht Sferd SR 8 fhT SR & Hae aRuTH §id ©, df 39 HRU IR Uy 36+ a1y
T 3R, Tfe, foret B & 3=y 7 d-fedra ufkomy uRaférd § oY STt SR g &
AT Td 33T BT | 37 3BT B 8 31T 91, HouIa o 3 §6I' I 9§ G
MR - R =0 § gaqH & deo H

Question 2. Socially disadvantaged groups or classes voiced against the
Brahmanical orthodoxy in ancient India. Give arguments citing examples from
Buddhism and Jainism.

1o ¥  dferd g1 a1 ol A UTeiE HRd | Fieard! STeIuare & [a%g SHTars
3378 | S1Y T OF Y F IGTeR0T A @ G|

Answer: The challenge to religious orthodoxy has often come from representatives of
socially advantaged groups, even if these were relatively affluent merchants and
craftsmen. This visceral unrest defined the rapid spread of Buddhism in ancient India.
Buddhist tenets and practices put down the supremacy of the Brahmin priestly class, as
did Jainism.

This long suppressed anger against Brahminism and its suffocating superiority founded
many a rebellious movements. Considerable sections of early Buddhist and Jain
literatures contain detailed explanations of such protest and resistance.

Tt Tfgare ! AN, TguT Qe &0 ¥ dfed Iqg! gR1 Y 18 8, T=ft gg smafa
g RreusRl & T4g 1 9 8l - S JoHTdD U 9 16 A1 S8 T a2 U URd
T ay-yH & @Rd TR 1 aRyTN far Sy 7 o9 «f & Rigidl g SeRon = ST
Rifgd ol BT IFAT DI THRI

STRIUETG 9 S9! GHEIE AFdT & Ufd 4T gd IHT U Ta HIY 7 3D BI<dR]
3MiGIeI 1 Joi fobar| YR sy d OF Wi & dgd 9 THrT # T forly @ wferiy &t
faqd st § |

Question 3. What is the importance of public debate and intellectual pluralism in
the Indian tradition ?

YR IRERT H grdei—e a1g-fadre ud Sifgs Rfdydi st agwa g 2



Answer: In fact, the very deeply-ingrained features of public debate and intellectual
pluralism in the Indian tradition have shaped the character of Indian, and to an extent,
oriental school of thought which has in turn produced the most ancient civilisation in
the world.

Be it the epic ‘Mahabharata’, where the contrasting arguments of Krishna and Arjuna
create the most exhaustive discourse in human history; or the highly intellectual battles
of thoughts and concepts between numerous interlocutors in the spiritual, political and
religious realms — each one of these are jewels in philosophical endeavour, as well as in
the practice of day-to-day human existence.

IR H HRATG WWRT & T8+ U J Sif$d 1dwii-eb dob-fade Td aifge fafdear o1
faRrvarsii 3 WRd foaRYyRT, 9 $3 A1 ao gdf faRuRT &1 smeR faur § - form fay
D! JY Ui Tl i o fear|

T8 98 HeThTod ‘HETHRA' B, SIeT $W1 d 3ro( & faRieTHf oeb 8 St g 3o |
e favgd e §; a1 fiR faaRT $iR el &1 3 aaieR] & Hed STeanfara,
eI T UTftfes & o A8 S ey 8 - Ul =i waa qu Ara-sia &
&% SHTERUI-Te FT1 I B

Question 4. The essay discusses India’s history and identity. Explain.

Ig ey YR & 3faeg™ Ud U= ot == ordl g | ST B |

Answer: The essay touches on the history of India, right from the down of human
civilization, to the present. It speaks about the ‘Mahabharata’, and the Vedic Age with its
caste differentiation. It traces the origin and spread of Buddhism and Jainism — among
the oldest religions of the world.

It moves on to the Bhakti Movement in the Middle Age and finally discusses modern
India and its socio-political features. In doing so, the essay also defines India’s identity,
its character, its uniqueness, its age-old and yet evolving philosophy and its message to
all humanity. The essay thus, reveals the very soul of India.

Tg e AFa-Tdl & I¢ § AhR, HRAHT Sfaer & IdH ol afivld exdl 81 98
TRIHRA' Td dfcd T T 3! qUi-HaRT, &1 91 Rl & | T8 [y & Urei-ae odf & 7
a1y g o9 9¥ Bt Iy 9 AR &) RIfed FRar gl

g e AeeTed Ufdd Siiaia @1 3R Jgdl § d Sidd: YH® YR I U AHIIS-
3 faRiwdraf ! o a1 81 T HRd T I8 Fa YR S g, SUHT AT,




3! SUHT, 3! JHI-GRIT, T Faa: [ Rd gl arRi-d drd Td {14 Sfifd &
forT I T Bl URUTT R 81 39 UPR, T8 Fa URA B AT DI JOITR Hal ¢ |

Additional Questions

Short Answer Type Questions

Answer the following questions in about 50 words each:

Y Ud® Uy BT IR 50 Vel H forfau :

Question 1. What are the three major issues Sen discusses here in relation to
India’s dialogic tradition?

YRA H IaTE & IRIRT & T H g8l T fr I 98 qe W aai R g ?
Answer: These three issues are :

1. The tradition of dialogue has remained in India since ancient time and is still
relevent for her democracy.

2. In spite of the tradition of dialogue remaining a male domain, India has
witnessed great women debators in all the fields.

3. People of all castes and classes have participated in dialogue.

1. %—INdﬁHdldaﬁM{J—uilﬂﬁﬁ?dﬂﬂ BT B 3R ISP YoTaa & forg g Y urfies
|

2. URd H HdIg $I IRERT H G| &1 Y I8+ & dldoe 9. &1 T T8 afgar de-
faare B arelt & B

3. gt sifaat @ 9t & < 3 Tare § Wit fern |1

Question 2. Sen has sought here to dispel some misconceptions about democracy
in India. What are these misconceptions ? (S.S. Exam 2015)



I8 T YR H USIdd & SR H $B Taid SGURUNSH Pl G P b1 T fhar g1 3
TAd SAYRUME TG ?

Answer: Sen tries to dispel the following two misconceptions about democracy in India :

1. Here, democracy is taken to be just a gift of the Western world that India simply
accepted when it became independent.

2. Itis assumed that there is something unique in Indian history that makes the
country singularly suited to democracy.

?mﬁm%aﬁﬁﬁaﬁ@aﬁmmm&ﬁﬁgvaﬂﬁmmm
1. g1 USTa=d &) {1 Ui TR &1 U IUSR THS STdT & o YRd A TWd-d g1
TR | FY R R WHR R e

2. T8 {HT Il g fF HRd & sfagra 7 Oft o133} 91d & f A7 uod 8t 39 3w
& 7Y Iuged &

Question 3. How, according to Sen, has the tradition of public discussion and
interactive reasoning helped the success of democracy in India ?

C o (o

T & IR Taol-d 989 g 3:hal TR TR dh-fadd ! IRART 7 YR H Uoll
B YHEaT H {58 UBR Teadl $1 Q ?

Answer: Democracy is intimately connected with public discussion and interactive
reasoning. India has since ancient times had a tradition of public discussion and
reasoning based on interaction. Great debates have occurred in the history of India. It is
public opinion which strengthens a democracy, and public opinion is formed only
through debate and reasoning.

USITa T ATdSl-ih S84 T 3d-fhdT TR MR dob-fade I Uy I g | YRd |
TR 990 Q8 v 989 g 3:fohar iR 3menid ddb-fadd o R I8! 81 HRd &
o # 93-99 IRard g g | I8 Wrdwi-ds I g g SNt it USids &bt Weg HRdl §, Td

g4I I Had 989 dUT do-fade I §d1 2

Question 4. Does Amartya Sen see argumentation as a positive or a negative
value?

3 O I -fadsh & GHRIEAS P ¥ Ae<aqul AFd § a1 THRIHD P 3 ?

Answer: Amartya Sen has described argumentation as a prominent feature of India’s



social life since ancient times. He describes that it has helped bringing out issues of
great moral and practical value. It being closely related with democracy, has helped
democracy succeed in India. Thus, Sen sees argumentation as a positive value.

3 T A I -fadeh &1 U T80 9 8 YR & 1o Sita &1 T Yo fawivar &
=0 H qui 51 81 98 90 $d © b 3 g A T AragiiReb Hewd & Tl bl Uhrl
T A TRl & ¢ | oSBT USldd 9 U-g T g, 3(d: 39 HRd H Jolas Bl
TGl H TeTadl &t g | 39 YHR I doh-fadd Pl GHRIAD P I Ag<aqul A g |

Question 5. How is the message of the Gita generally understood and portrayed ?
What change in ’ this interpretation does Sen suggest?

T & T ! IHId: oo =0 & gaen g [afAd foear siar § 2 99 59 e | 59
gRad- &l qaArg 3d & ?

Answer: People generally believe and try to follow the preaching of Krishna that one
should do one’s duty for a just cause without caring for the consequences. Sen suggests
that apart from following Krishna's message, Arjuna’s contrary arguments regarding the
thought of avoiding bad consequences even if due to actions for a just cause, should
also be taken into notice.

R ATHIIG: W & IUGK H YT B & AR ITDT AR R BT YA FRd & [
Hfad P UROE &1 for=dT {6 fomr =amifed &1 gq 3191 Sdcd ST a1ied | I JaTg od
& [ PN b TaRT BT STIRVT = & 1Y B 3Aoj & X URUMH A1g d IR &4 5
fhT S T I g, 379 T & foaR el faRleh daf wR off e g1 =nfeul

Question 6. This essay is an example of argumentative writing. Supporting
statements with evidence is a feature of this kind of writing. For each of the
statements given below state the supportive evidence provided in the essay.

Tg e ahia e &1 U IeTERUl &1 Bl &1 188 I IfP FH31 30 UHR & oG B
UF faRvd B 1 - G T Ul HyF & fore Fewy & Sudass 39! gy orA ara aed
CLIED]

(i) Prolicity is not alien to India.

TS g IS U0 YRA & 1w =10 e 81

Answer: Krishna Menon was India’s Defence Minister from 1957 to 1962. He led the
Indian delegation to the United Nations, and on 23 January, 1957 delivered an
unprecedented 9 hour speech defending India’s stand on Kashmir.



FOM B 1957 F 1962 T YR & Y& Frelt ¥1 I8 Tgad Y TR URd F Hfaffmvea
BT G b1 T, 3R 23 TG, 1957 BT I51- HRA P HRAR Jra=ll Ugf & §a1d | Th
3YYd A1 guC BT HTOT T |

(ii) The arguments are also, often enough, substantive.

PR db S Wi id |

Answer: The famous Bhagwad Gita, which is one small section of the Mahabharata,
presents a tussle between two contrary moral positions Krishna's emphasis on doing
one’s duty, on one side, and Arjuna’s focus on avoiding bad consequences (and
generating good ones), on the other.

TR W], Sl HETHRA T Ueh BICT-TT 3T 8, &l IR faieh Afcres vl & g duf
! TRId B! § — U 3R, FN BT 30 Heied Bl R IR SR, 3R IR 3R, 31 BT R
RO T g2 (3R 31 URUMH AT H34) TR M|

Question 7. What doubts did Arjuna raise on the eve of the war of the
Mahabharata?

HETHRA & gg & AR WR 3o 7 o1 4= IS ?

Answer: On the eve of the war of the Mahabharata, when Arjuna saw the two armies
getting ready for battle, he raised profound doubts about the correctness of his action.
He was worried about the bad consequences of the battle. He was sad to think that his
action of fighting the battle would bring about great slaughter and misery to his own
kin.

HEIYRA & g & 3aTR TR ofd 35 A a1 13 &1 g P oy duR gld 8¢ <an df 3
3 B & T IR TTER Y Fad fhdl | 98 g & gWIINUIMH & 9w # arae: faf~ra

w|a€a€§?§@ T foh IFb g R A I 30U TSR b T Bl 9 I7b [ad

3 3IUF gl

Question 8. What question did Arjuna raise about doing one’s duty?

39 I ekl & hcied b IR H T UY ISHT ?

Answer: Arjuna was deeply pained to think that performance of his duty to fight would
cause a great carnage. He questioned whether it was right to be concerned only with
one's own duty to promote a just cause or was it right to be indifferent to the misery
and the slaughter even of one’s kin.



351 T8 e e gt U7 foh I 301 Hed UM T T TRIUER 8| 39
Uy ST o 1 I8 Tel & o A YH BT 1Y S & 307 Had &1 IRaTg $I o, AT
30 AR 9 & W 9 a9 P Ul IR 1 T B

Question 9. What arguments does Krishna give in favour of Arjuna’s fighting?
P, 3T S Jg PRI P U A R qb o & ?

Or

How does Krishna try to convince Arjuna to fight?

P 3 Pl GG HRA b foIT MY B b1 YA [ d USR FRA g ?

Answer: Krishna argues that Arjuna must do his duty. He insists on Arjuna’s duty to
fight, without caring for its consequences. He tells that it is a just cause, and, as a warrior
and a general on whom his side must rely, Arjuna cannot waver from his obligations, no
matter what the consequences be.

FHU TP od § [P S DI U] Bl Y BT AU | 98 TR &1 IRaTg fobd fom
3 & IUP g B & B P B BT AUE IR ¢ | I8 Ped ¢l [ T8 Th
Nfrayef I22T B, 3R U Uil 9 JUfd & =0 H, 9 1R 391 ger R B, 3l s
Hadd ¥ fag e 81 Tehdr 8, ¥al 8 uRomy $w ot 8

Question 10. Write a dialogue which took place between Yajnavalkya and Maitreyi
about immortality.

3R & fawg # gryidedd 9 B & Hed §U Hale &) fAf¥u| (S.S. Exam 2014)

Answer: Yajnavalkya and Maitreyi were discussing the importance of wealth. Maitreyi
asks Yajnavalkya whether it could be possible that if the whole earth, full of wealth
belongs to her, she could achieve immortality. Yajnavalkya replies, “No”. Maitreyi
remarks, “What should | do with money by which | do not become immortal ?”

I g AT o1 & A< WR 9] X I ¥ | B araedd § Ut § [ afe dquf gedt
BT Y BT Bl O dl T 98 SHPb GRT FRT U HR Fobalt o | TRded IR ad &
gt | Bt feryoft Bt 8- “H 67 BT 1 Bt Al 3B gRITH 3R 7181 81 Jbail?”

Question 11. Describe women'’s role in India’s argumentative tradition.

YRd B dh DR B URERT H Afgarsi o YffeT &1 quiF S|




Answer: Many women in India have participated prominently in the country’s
argumentative tradition. Many of the dominant political parties in India national as well
as regional are currently led by women and have been so led in the past. In ancient
India, Gargi and Maitreyi were the two prominent names that took part in arguing
combats.

YR H Sgd-3 AfGeall 3 39 GBI b B 1 TERT H THE FU I YT fory 81 acfr
H HRA H ggd Y UHTERITeH 1T Gell - AP G &1 31 - B Aa1 Afeard 8 ok srdld
H off 38 & | e uRa B, i R TRd Gy A 2 forgie =merdf & Jm ferm

Question 12. ‘The use of argumentative encounters has frequently crossed the
barriers of class and caste.” Explain.

qH TGl & TART 3 TgUT aFf g 1Ifd o A1 P UR fordm § 1 SaredT Siforu|

Answer: The history of our country shows that the use of argumentative encounters has
frequently crossed the barriers of class and caste. The challenge to religious orthodoxy
has often come from spokesmen of socially disadvantaged groups. The Brahmin-
dominated orthodoxy met argumentative revolution from all the deprived classes and
castes.

YR H1 3fcgr el § [ dhga! & TaiT A §g41 a7  Sifd & SfaRidl &1 UR fhan g
T = featfedr &I g U I de & RIGR LT & yaadrafl HF R & foreft
g1 it dferd ol @ STt A STRIOn & U aTel S fealfadl & (%G deRiid f[aaig faal

Question 13. How did India choose to be a democratic country?
YRA A U T veird s fod YR g1 2

Answer: India has had a tradition of public reasoning and argumentative heterodoxy
which is closely connected with democracy. Besides using this tradition, India used what
it had learned from the institutional experiences in Europe and America (particularly
Great Britain).

Thus, on the basis of both of these, India chose to be a democratic country.

HRd H IIdoie 969 T dhid SRefedlfedl Bt TRART I8! & St IS T 3d: grafd
21 3T TRERT B! SUTNT HA & AATaT HRA = TRY g ARG (A9 =9 Je fyen) &
TRITT SfIHal S T T, IGPT Y ST fodT | §9 UBR 37 GHl & YR TR URA A
30 T vt 1




Long Answer Type Questions

Answer the following questions in about 100 words :

Y U UY BT ITR THIT 100 Weal A cifolg :

Question 1. Arjuna says: ‘How can good come from killing so many people?”
Explain this in terms of the present day world.

31 HEAT B : ‘S IR AN bl ARDBR YAl H 81 Gohel § 7 IH fay & Taf o sqap
RHAT BT

Answer: This argument of Arjuna is worth deep contemplation. The case for doing what
one sees as one’s duty must be strong, but how can we be indifferent to the
consequences that may follow from our doing just our duty? As we think about the
visible problems of our global world — terrorism, wars, violence, epidemics, insecurity,
poverty etc., it becomes important to think about Arjuna’s arguments that while doing
one’s duty, one must think of avoiding bad consequences.

It could well be the duty of a certain group to wage war for religious or territorial
objectives, but are the terrible consequences of killing of innocent people acceptable?

31Sf- &1 U8 T T8 fara & T g1 Yl g fa fory 3O defod THedT & 39T el
ToTed &), ueqmmu@m%uﬁrw@?ﬁﬁﬂwa%ﬁﬁ SR 39 B 9 g IHhdT 7
O &9 A1 U Holcd THSA § 2 O1d §H (U AfYd TR &1 WP Jawmsf, o fs
3fTddare, I, e, AeTaIial, sRRer, TRis 3anfe R faaR #Rd § df afad & SuA
aﬁwﬁa%%gaqh%aﬁ%aﬁﬁﬁ%m AT HewqU gl Sl g |

&0 R R § 99 & AU 3o B R & IR F off Siee e e 98 8 g & i
ol T &1 oo UTftier Srar &t & g I 1 8, T o FRORTY AT 1 gt
BT YIS URUMH 39 7T Wi i ?

Question 2. Find arguments from the essay against the prevalance of the caste
system.

9 Fe= & O SfagdT & vae o faR1Y § Tged ddf &l gled |

Answer: The arguments given in the Mahabharata by Bharadvaja are some arguments
against the prevalance of the caste system. These are :



o |f different colours indicate different castes, then all castes are mixed castes.

o We all seem to be affected by desire, anger, fear, sorrow, worry, hunger, and
labour; how do we have caste differences then? The argument given in the
Bhavisya Purana:

e Since members of all the four castes are children of God, they all belong to the
same caste. All human beings have the same father, and the children of the same
father cannot belong to different castes. These arguments prove the prevalance
of the caste system to be quite baseless and give the message that it should be
uprooted.

HETHRA § YR gRT fa8 T dd Sfaudt & aa & iy # fod 13 a &1 ¥ 39 UhR
o Tl SCHT- ST T S-S STl o Jadb & af gt Sfaat iy sfoai g

. T 3T Py, WY, g7, R 4@ SR ufem (ydm) 9§ guifad @d €, foe
A SIfavTd He Y g ? Moy RN A fear mn de |

o b T TART ST b N 4R b1 T 8, 3Mck: A oI Tb &1 Wil b & | G 7yt
BT T T €1 B, 3R U &) far &) Tl b 31eiT-3rewT Sfaai el 8 obait ol A
T SIAUAT & Taa Bl fSepd STUREH R HRd ¢ 3R I8 Ye od ¢ 1o 39
YT Bl S8 U AT P a1 ST =i

Question 3. Sen quotes Eliot’s lines : ‘Not fare well/But fare forward voyagers'.
Distinguish between ‘faring forward’ (Krishna’'s position in the Gita) and ‘faring
well’ (the position that Sen advocates].

T EIiotaﬁWB’%aﬂﬁ%: ‘3fdfder Agl | dfcp 3T dG\I, pieoid 'Faring forward'’
afrar & gooor o RUF) TUT “faring well’ (@8 FURT ST I9 IHTad Hd 8) | 3R HITOT|

Answer: Krishna in the Gita exhorts Arjuna to fare forward i.e. move towards whatever
lies before you and behave accordingly. He advises Arjuna to act on the spur of the
moment and that to do his duty without any thought about the result. But Sen favours
the position of faring well. He says that wherever you go, you should behave well
according to the situation.

He gives the voyager freedom to choose his way. But in Krishna's preaching, the voyager
i.e. the listener is bound to go forward. Also, while ‘faring forward’ involves performance



of duty regardless of consequences; ‘faring well’ calls for consideration of results of
one’s actions, even when done in course of duty.

TﬂﬂTﬁW&T{ﬁﬁ Fare Forward’ Wmaﬁ%aﬂhﬁﬁlﬁ@%ﬁﬂmﬁ% I 3R
o 3R TR & SR TAER R | YA I AT & IR B BRI | Afad b GROMH
&1 fic ford faT 310 i &1 UTaH =T ATfe | fdH Eliot ‘Fare well’ &1 T & e &

gl

9% e g1 § o @ orel ot oefl, uRfUfT & SFuR ZagR &I | a8 IEl $I, 301 A
I b1 WAl &l &1 AfhT T b JUSE A ATAT 3] e 3117 W1 o forg e g
=& 3ifaf¥ed, STeTl 3 dgr U&Uﬂﬁfﬁaﬁ&nmﬁmwﬁ iR HRAT B, 33T
éﬁﬂmu%ﬁm?m%%um% 18 3§ I A F I 8l O pacauTer P

|

Question 4. Sen draws a parallel between the moral dilemma in the Krishna-Arjuna
dialogue and J.R. Oppenheimer’s response to the nuclear explosion in 1945. What
is the basis for this ? (S.S. Exam 2013)

@HW-&@HWH 1945 ¥ fopd T YD fawhie & Ufd J.R. Oppenheimerﬁ
yfaforar & AT BT I0H Hd 8 | 5T FHAT DI T YR § ?

Answer: J.R. Oppenheimer was the leader of the American team that developed the
weapon that caused the nuclear explosion during the Second World War in 1945. He
was greatly moved to see such a dreadful mass destruction.

At this stage, he was in Arjuna’s position who was at a loss to think that he was the
cause behind a great carnage. But then he could even justify his action of developing a
weapon of mass destruction for the cause that he thought to be right. This was Krishna’s
stand. Thus, his moral dilemma was parallel to Krishna Arjuna dialogue.

J.R. OppenheimerwWﬂﬂ%ﬁﬁamﬁw&rﬁﬁﬁwmwmﬁ 1945
7 fgdfia fay g & SRMA Tt fawwie foar mar| T Ha-e RYER W@ a8
3AfIF — &fad 81 T Y|

39 YT F, 98 ool & fRUfd o & St 9 T 3Mgd o1 o 98 TP HeH RUGR &I HRU|
21 A 9 98 30U THER & 3 & faHmM & Hrd &) shfereryuf off 381 T 3 Fifes
3 SUD] I S T UT| TG FHT T Uef UT| T YHR D! Addh gfaeT H0T g 3
& aTe & g Uil

Question 5. Maitreyi’s remark ‘what should | do with that by which | do not
become immortal’ is a rhetorical question cited to illustrate both the nature of the



human predicament and the limitations of the material world. What is the
connection that Sen draws between this and his concept of economic
development?

T ot fewoht — T 3 9% &1 T Hee off ol SERAT 61 ¢ qdbal ¢ — T U= Iy
& R 7w @1 ge R 3R i TR &) el <1 ot saren & & o Sqyd
fpar SIraT 81 99 59 Uy 9 i fawr &1 (U=t raeRon § o1 T §dTd 82

Answer: Maitreyi's remark makes it clear that wealth is not the ultimate source of
happiness. Amartya Sen totally favours this stand. He describes that income and
achievement are two different things.

We can buy commodities for wealth but it cannot buy us the actual capabilities we can
enjoy. Our economic wealth cannot totally make us live the way we like. There does lie a
connection between wealth and our ability to achieve what we value, but in some
conditions it may be absent too. According to Sen, wealth alone cannot be the basis of
our freedom to live long and live well.

B ot ool a8 Wy R <t 8 P o7 Ugear &1 T Jad 91 T T8l g | 3 9
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Question 6. It is important to see that the Indian argumentative tradition has
frequently crossed the barriers of gender, caste, class and community. List the
examples cited by Sen to highlight this.

g G Agaqul ¢ fob YRdg arfdes wreaRT = agen feiv, Sifa, avf @ awera & srariel &
UR o1 g1 39 §1d R YSHTRI STa & foIe ¥ gRT Igyd fordl T Ia1evun &1 gt s 1sd|

Answer: These examples are :

1. Women like Sarojini Naidu and Nellie Sengupta have had prominent roles in
India’s politics.



2. Gargi and Maitreyi took part in ‘arguing combats’ in the remote past.

3. Distinctly underprivileged castes of Indian society fought against the superiority
of Brahmins. Buddhism and Jainism rose as rebellious religious movements.

4. Kabir —a weaver; Dadu - a cotton — carder, Ravidas — a shoemaker, Sena - a
barber, led the movement against social barriers. Mira Bai, Andal, Daya-bai,
Sahajobai were some of the prominent women who joined the movement.

Thus, the argumentative tradition in India has frequently crossed the barriers of gender,
caste, class and community.
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Question 7. What is Sen’s interpretation of the positions taken by Krishna and
Arjuna in the debate between them?

FHWT 3R 3o & o9 §U dIe-fadig & 39 aIHI & G&fi B 9 [y JHR RS I 87

Answer: In the debate between Krishna and Arjuna, Krishna stands for doing one’s duty
for a just cause, while Arjuna questions the propriety of doing one’s duty to promote a
just cause at the cost of misery and slaughter.

Sen, with due respect to Krishna's preaching, favours the stand of Arjuna. He interprets
the position of Krishna as one that teaches to do one’s duty without any thought about
the result. But Arjuna seems wiser to Sen in raising doubts about the tragic outcome of
his visible duty. Sen seems to be advocating Arjuna’s view of thinking about the



outcome of one's action since it appears to be the better course in context of present
global scenario.

FUT 3R 37 & o9 §U dTe-fadrg & HWT U1 dHded B BT U Ad § STd(h 39 g
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